3X5=15

Multiples of 9

Multiplication Vocabulary

X|0{1|2|3|4 5678|910
ojo,o0}jo0;0|j]0j0|0]O0|0]0{0O
1101 2|34 |5|6|7]8|9/|10
2102 4|6 |8 |10|112|14|16| 18| 20
310|369 (1215|118 (21|24 |27 |30
4 |0 | 4| 8 |12|16|20 (24|28 |32| 36|40
5105 (|10115|20|25|30(35|40 |45 |50
6 1] 0|6 |12(18|24|30|36|42 |48 |54 |60
710 |7 (142128354249 |56 /|63 |70
81 0|8 |16(24|32(40|48 |56 |64 |72 |80
910 |9 (1827|3645 |54 |63 |72|81|90
10} 0 {10 (20|30 (40|50 |60 | 70| 80 |90 |100




How to use the Times Table to find the Answer to a Division Problem
L. . Here are the steps to use the Times Table to find the answer to a
Division Vocabula ry division problem. We will use the example of 15 + 3.
DIEEILE 15 = 3 = Sm Step 1: First, find
the divisor in the
top row.
X101 718(9(10
5 ogjojojofofojojojo|jofofo
m 3|15 1flo|1|2|3|4|5|6]|7]|8]|9]10
k 210|246 |8 (10(12|14]|16| 18| 20
=
2
- 310|369 [12(15(18|21|24|27]|30
36 | 40
Step 3: Finally,
Look across from Step 2: Then, 45 | 50
the dividend to look down the
the first column 54 | 60
to find the
quotient. 63 | 70
81 0|8 ]16|124|32(40(48 |56 |64 |72 80
910 (|9 ]18|127|36(45(54|63|72|81]|90
10§ 0 |10 20|30|40| 50|60 |70 (80|90 |100




